1. Question: FEG AfGIIMTCF?

A) Fsfer
B) (sriifsie

C) 3fferer

D) csifarfsifersy

Answer: D) (gfaifsifer (Penicillin)

Explanation: (ffSifeie 4% ga@g afBa@fos I1 (IfAfSEm a1 ward (3@ ©fF 271 - S>30 S
SIS (FN: (Ao NAET FEF| O3 ; SfenfIew ™, IFTI-519 I |

2. Question: SIS AF @ 29-

INENES!

B) f&fer

C) *N&%at

D) Ip©

Answer: D) I$9 (Liver)

Explanation: SfGN (1 (15T 77, Af6 (FNETF THED | - A [[FTRREE A1ar (@ (ST SiSs (W]
(T - AN TEF (RS FAFISET AF6! TN FTe1F FIeR (oo 1 fAfeaeaa (ofd F@ T
TaFeIe MeI@ IFIoTe & FFeatia M e e sFTFeE 9= G|

3. Question: @6 A7y AfFAR 93?2

A) ST

B) (emar

C) &1

D) IF

Answer: C) 71

Explanation: - SRR TIE 3EFEF A7 TR (A I THH[S T2O1R b6 FA© MA |

4. Question: (FFG FIFARST fHT SIH?

A) TFeF ST
B) & I



C) (@
D) s

Answer: D) SI¥af37 (Solar energy)

Explanation: f&a 83¥ T4 G2 S| - 936 2% FIFARTT MG TN 93 IAA6 207
SIS ET TS|

5. Question: MKS &fete ©@d 95%-

A) T
B) ST
C) s

D) faeetrsmsy

Answer: D) f3@s (Kilogram)

Explanation: - MKS T&fet® SEF 933 [FEIH, - GEHF 9% NoE 93 - STNET 958 TFS |
MKS "Tafed &1 ffs @2 ITN0E Aedifos aFF S.1. 9F% ST GE&| Source: britannica.com

6. Question: (FIFGEF I AfFre F1 TF?

A) BT
B) T
C) free
D) 1%

Answer: B) 3¢ (Gold)

Explanation: (519% ¥ §5% F1H1 138 2| (1T, T, @, (F1ETG (H1FF 1|

7. Question: SFTEMGMGIF (Altimeter) f$?

A) 1T AT I

B) S¥@ AfFANTF I

C) STIIF 15T SAHAPF 17
D) S%eT A% 77

Answer: D) S%eT AN I5

(D) Altimeter is an instrument used to measure altitude.



Explanation: SHFBAGIR- SHeT [H3F IF| FTFRRGIE- ST AfTN=F IF| MANGE- ST 51
ferefiass ==

8. Question: (FF6 CNfaF Tw7(?

A) T8
B) (@&
C) *nfey
D) (eT21

Answer: C) Il (Water)

Explanation: (I S7¥(& SIS (61 RIGT S 5% s3I I 1 ©IF (Nferd il | (@13, 7, e
A 32 (AfSF 9T (@1 GRfer S|

9. Question: (F19 4Ty OIS SITHAT O NEH?

A) 2TEAI
B) ferfamy
C) iy
D) =aw

Answer: B) ferfR3msy

Explanation: « *F% A4 4T I TOITF ST O AT A | * A7 TARACATS T4 o
A3 TS T ©k. v° (AT | « ©1R af6 FTe1AF SIFaT ©39 933 ATF | ST IS
faes, Fa5-w7e Cafer

10. Question: CGITES BIET TN SATWH-

A) ST
B) W

C) aeffeifarzTs
D) (1™

Answer: D) (SIS (Chromium)
Explanation: Stainless steel usually containing 10 to 30 percent chromium. In conjunction with

low carbon contents, chromium imparts remarkable resistance to corrosion and heat. Source:
britannica.com



11. Question: STCISH] IEFT STHN-

A) IAfEE@
B) TRE G
C) Fored
D) 2R©TE

Answer: B) TRETG

Explanation: Molecular weight of hydrogen is lower than that of any other gas. Source:
britannica.com

12. Question: ST MfaF IS T Fo-

A) 2H202

B) H20

C) HD202

D) D20

Answer: D) D20 (f& 2 8)

Explanation: ST "Nfel 2% TROTETET ARENGIT FSGERIN (A O357F | AT IEIE T T0%--
ORI THRS AR RFe-- D20

13. Question: (MR STFTSARIOR FH(® HITO -

A) ©TH]

B) asfaiferamay

C)=*n

D) w31

Answer: A) ST

Explanation: Galvanizing is the protection of iron or steel against exposure to the atmosphere
and consequent rusting by application of a zinc(%31) coating. Source: britannica.com

14. Question: WFd 4Ty PTerTA(Brass) SAm4-

A) o1 8 o
B) ®TeT 3 foriaet



C) BT 8 =
D) BT 8 WY

Answer: A) o 8 fo e

Explanation: 239 41g e L& % O 433 ©e% w3 fifie |

15. Question: (@FF6 NG (SfAF TATTON FIGHT?

A) Afo¥s S
B) %1
C) (Nf&I™
D) &t

Answer: D) f&1sT1¥ (Gypsum)

Explanation: f&sss fSe6 (Gf4 STave s I8« FIEI Source: britannica.com

16. Question: 3T ©FF IT&1-

A) SRTHIRS
B) swiferfers

C) o fF
D) f&. e

Answer: C) o 2fd:

Explanation: Georges Lemaitre was a Belgian astronomer and cosmologist who formulated the
modern big-bang theory, which holds that the universe began in a cataclysmic explosion of a
small, primeval "super-atom." Source: britannica.com

17. Question: NP TN ATHES-

A) 1]

B) SR 513

C) Bt

D) ®5

Answer: A) 219 (Hubble)

Explanation: ST (3@ RSite Aste AP I6T FRi@sies 900 1 F50@ (J| AResTios a0



SAIFTH FEA @A (X1 S0 Y T [FRNT (7 FROsIoF 7 N FE (@& JHFH o

$(E1 Source: nobelprize.org

18. Question: RS SIS NRTT I~

A) $5>¢b ST
B) s> ST
C) s> L8 ST
D) S5 NI

Answer: B) 4> ST
Explanation: Yuri Gagarin, Soviet cosmonaut who on April 12, 1961, became the first man to

travel into space.Neil Armstrong is the first person to set foot on the Moon during the afternoon
of July 20, 1969. Source: britannica.com

19. Question: MG FANfg FIfFe-

A) sTfifate
B) JFAE

C) HI
D) ISR

Answer: D) J&a187 (United Kingdom)

Explanation: Greenwich meridian, imaginary line used to indicate 0° longitude that passes
through Greenwich, a borough of London,UK, and terminates at the North and South poles.

20. Question: TS FUETE 930 [0 TETT T TG I 38 IRF| J0 (FIET FGOHF IR RS
TEF fAE 91 37 OF O (@FET AFHEF TS IIT F6 X0 TMI?

A) 2¢ =T
B) v} IRy
C)3v =T
D) wo &g

Answer: B) wx &g

Explanation: & wETd Swwa (NG T 38 x © = 93 T2F IV | TSI IIN WAl 3 T=F 2
AFHET TS TIT (G M 92 - (I X }) = 00T |



21. Question: 936 TN A 77 G TCIHT : (. . (216; 5o Afogs ST I7F (. .
TG | Ao il T2

A) & . .
B) v Co1. .
C)8 (. f.
D) So (5. .

Answer: B) v (7. fi¥.

Explanation: §f3, ©fff = x (7.1 SIfeg = x + 2 (1.1 TEA@ , X2+ (x - 2)2 = (x + 2)2 T, X2+ X2 - 4x
+4=x2+4x+4J,x2-8x=03,x-8=0..x=8.. JAfega = x + 2 =8 + 2 = 10c.m.

22. Question: 36 TEET AFF ¢ 7. . x 8 CF. fA. x 5.¢CT. 1. T e 7. . WHff, 8% (. fiX. or%
A3 wo (W, . THeIfATE a6 T T FSIb TET F1AT IME?

A) @380 6

B) vezo fb

C) wyoo I

D) 2u8o &

Answer: B) @30 f&

Explanation: STRIET TG = ¢ X 8 X 5.¢ = o HF (.f3. ITHT TS = ¢ X 8% X 9o = 9900
T O1.f3Y. .. ST J137 AT = 99%00/@o = 2u80 B

23. Question: 3% (TG A = {5, 15, 20, 30} 932 B = {3, 5, 15, 18, 20} 2T 5& [AGT FEGA N B
AT $a@E?

A) {3, 18, 30}

B) {3, 5, 15, 18, 20, 30}

C) (IR 77

D) {5, 15, 20}

Answer: B) {3, 5, 15, 18, 20, 30}

Explanation: A N B = {5, 15, 20, 30} N {3, 5, 15, 18, 20} = { 5, 15, 20}

24. Question: 4, 5, 3,9, ¢, B, Y9, XY =mammea- HIIF Lo 4o Fo?



A) e8
B) L8
C)8v
D) ¢¢

Answer: A) @8

Explanation: 13 1913 feft W SANSTH 1216 M FINTF A S S Ahofae e T
CTOTES I8 40 o 2T = & I 77 9 Jf% (TF @ = 3k ABA TTIE@ Y + b = 0L qIT T 0G + >
= 8Q T W T(F 8¢ + So = ¢

25. Question: 936 fagEE 6 (@1 AfTNT 0e° 3 ¢¢°| fagsft (F1 JaE?

A) TFTTA
B) a2

C) Wfgag
D) STt

Answer: B) S¥q12

Explanation: fagmd feam@ e e 42 @ | Agsiod SeHd (FIER AT = Sto - (¢t + 9¢) =
»0°| Sead, fagel’ Tt |

26. Question: v (51, 1., 8 (5. far., ¢ (5. for. A=fIFR St T sIferm gt 9Ff6 T4 tofF Fa7 771
T FNFH I2F (75 F© E?

A)a.¢ (5. f.
B) u.¢ (5. .
C)act. fi.
D) & ¢1. fiv.

Answer: C) a (51 1.

Explanation: F(&d ATea= 120 .". g AP ATON= ©0+ g+ ¢ = IvY T (3. fil. TRw =
G T OF. . 2T 7. Agel Ha@e IR Wlfi= 9380 = & (1. .

27. Question: 336 FICF FT@T 0= & (7. 1. 8 > (7. .1 92 T (FaH@F TN (FaHA I g
FSfeF@a TN Fo?

A) S (1. T
B) v (1. .



C) vy (N. fi.
D) 38 (7. fi¥.

Answer: B) sv (7. .

Explanation: F90TF (Fa%a= b/3 x FGET SIHT = b2 x b x » = wuI5f 1.0, &fF, IsfeF@a =7
F=FEM e IR . F =y O L @RI AT =8F =8 x b =38 .
28. Question: I (a/b)x-3 = (b/a)x-5 3T B x 9T N F©?

A) 8

B)3

C)5

D) 4

Answer: B) 3

Explanation: (a/b)x - 3 = (b/a)x-50r,x-3=5-xo0or,x+x=3+50r,x=4

29. Question: ¥¥a3 =3Fe?

A)a

B) 1

C)a3

D) a1/3

Answer: D) a1/3 (a to the power of 1/3)

Explanation: ¥¥a3 = ¥a3/3 = a = a1/3

30. Question: fIEa @G (V5 - V3) a7 T2
A) 2

B) 1/(2V5++3)

C) (115)+(1\3)

D) 2/(N3+15)

Answer: A) V2

Explanation: (V5 - V3) ={(5 - V3)(\5 + V3)}/(N5 + \3) = (5 - 3)/(\5 + V3) = 2/(/5+3)



31. Question: 36.23x-8 = 32 (T x A7 Ad F9?
A)7/3

B)3

C)8/3

D)2

Answer: A) 7/3

Explanation: 36.23x-8= 3> = 36.23x-8 =9 = 23x-8 = 14 =2-2 = 3x-8 =-2 = 3x=6 .. x =2

32. Question: x/y a5 STV F© (15T FHET (JT5%6T y/X?
A) (x*-2y?)/xy

B) (2x2-y?)/xy

C) (x-y)/xy

D) (y*-x?)/xy

Answer: B) (2x2-y?)/xy

Explanation: x/y - y/x = (y?-x?)/xy

33. Question: (¥3x34)6=2?

A) 12
B) 48
C) 36
D) 144

Answer: B) 48

Explanation: (¥3x34)6 = (¥3x34)3x2 =144

34. Question: m FATF FAF 5TG X AR N RATP RATF 518 y AT T RATF 6 $©?

A) (x+y)/mn

B) (x+y)/(m+n)

C) (mx+ny)mn

D) (mx+ny)/(m+n)



Answer: B) (x+y)/(m+n)

Explanation: &f3, m SR AN Y = my n RATF 2T /G = ny (o RAT=m+n .. 5
AT TG = (Mx + ny)/(m + n)

35. Question: 4x+4x+4x+4x AT A G @02

A) 16x

B) 44x

C) 28x

D) 22x+2

Answer: A) 16x

Explanation: 4x + 4x + 4x + 4x = 4 .4x = 22x+2

36. Question: FFIT WRT 2,99, 00 HIFT TTRE TNEF| 9(S/3) T=F TF ST T BIFTF S(5/8)
SR STA (TS | FTRE@T JOF A F67?

A) S3(5R)%
B) S5(5/9)%
C) v(>9)%
D) S4(:/9)%

Answer: B) 55(5/9)%

37. Question: ¢ & ©le-AF ¢ U ¢f6 F17T FA0© ME| IF2 ¥F@H f6 FTTS FA© 9 I ANEH
F© fuef TISI?

A) a foae
B) x@/8> foel

C) 8>/x¢ fae
D) ¢ foe

Answer: B) 2¢/8> fae

38. Question: (x -y, 3) = (0, x + 2y) (T (X,y) = F©7?

A) (-3,1)
B) (1,3)



C) (-1,-1)
D) (1,1)

Answer: B) (1,3)
Explanation: x -y =0 5[edRk, x =y 3 =x+2yor,x + 2x =3 or, x = 1 Means, (x,y) = (1,1)

39. Question: 936 ATOIFF FEF 3 ©IF GEAF /o 3| TG AT 80 FIEF @ ©F (Faw
GA0) ?

A) So FSfAGIT
B) y8 IsfGE
C) 92 Fffo1F
D) »b FRGF

Answer: B) v8 I5fG1E

Explanation: &f3, 5363 (7= wF 61T .. 7 = 0F*(3/9) = 33 NG1F .. AFTHAT = 3 (0F+3F) =
SoF MO, boF = 8o .". F = 8fAGIT HADT (FaHeT = 0FXIF = WxBx3Ix8 = DY FAAGIFT

40. Question: (SSFT IFHfeF ST T | NOF Tod (2, AOF SRTH Tl I (W) IRATWCTH
AT 93T T FOf6 TN ST TEAR?

A) Sb

B) 9

C) So

D) v» 36 1o $81 @™

Answer: D) 5

Explanation: =6 Jifed Fa71 2@®

41. Question: =P BICTT ST a1 {352

A) foget &t
B) ST&tst

C) F@Ifual
D) wfSpel GITsI

Answer: A) foger Gt



Explanation: - ST 1 {8 3[d SIS IEIATISAS AIF0 ST (RGBT SISO 2ol NISTHAT 71|
- afS SET-TH@ &Y AP SIFE AI(F0 A3 S»%0 NEF FTRFA JAAGH T9 AGIrSEI a1
(TR ST FRAICT TGN Tfzper SIersifE & (SsT 3|

42. Question: TSI (FT (ST I 5e?

A) Tt
B) i3

C) RIS
D) a7

Answer: A) JCTH

Explanation: - JRRA5TH (NRATF (ST %0 93 97 I A - (AW | - 932 IRACTH
SRR NI (YO TFFTF A AAfRo®) T 5= FH|

43. Question: FIRTGCTT (FHING BT (FI (SATI?

A) (ST
B) (T
C) 5T
D) FHI

Answer: D) $F™TH

Explanation: * (RGN &151: - (75 M G5 IRACTE 5 Wil IGMTHISNE SoF-JIR0T IS
936 FIFTE| - 6 FHIENT (TR (BT (O A > fFENHNGIT WEp(er 7% - FATRAAF-T SAPeT
2@ v RFENREE S0 a% J0ta (R IR | - J5a M@ T8I IF I FNTSF A
EIECLENERRER R G

44. Question: FRAMCTR NHEF F@HF quT A1 977 F7?

INEEISIIEES

B) =G

C) T¥oT

D) (AfSG SGsT

Answer: A) 3! AfNF (Prabashi Shromik)

Explanation: IR STA(6F SHAIFT- 1030 SFIR, - IS (@FERF Ul TGP T TS (ofF
(T 8 NCSIF R 1 - Y049-30%Y0 IAYTRE IRATWIT (N6 TN NI AT . bag &ferme



MFT TAF| - 97 MY 9% Ao FIAF AT 29.5¢ IS TAF I (NG FTHT T wo SIS

45. Question: *FIH fIRF (FRI?

A) STEE

B) 37F
C) FSATGT
D) A FTAS NS T

Answer: D) ST TS TRICST =0T

Explanation: IRTNTCTE AN IFGIF foTw ey FHEE Nera 218 I (w7 v Fife | - afe
(MRRRCTH 5@ T B BT ANG 6w sl FEA| - S[OFR, 9T A A "SI0 N2 -
TR GG 53¢ fOFFF 8 TSI T A R AESSEN Nfad TR

46. Question: NN AT STFI6 (FINT AI260?

A) Bastisy ¢

B) o1& fArfRwme
C) (@@ SZar

D) Fr&rmat frsfRmee

Answer: B) BT fgfamsei@

Explanation: J[&I&fas SIEY "SR IRACTT" ARTR! ARAwe® o@fse | - e 3fs -
foTQel FZI - 5593 TR So (WM 2w SeVel AT T A SN FEA| - I FIS SHHIHT
SR ARETT SO A Ao AT S 2T | T IRAAGAT S A7 feerb

47. Question: (S3FFT NPHGF SRTF T | NOF God (@2, NOF SERTF Sely T (73) AR F77
fF@B, 2053 FA CHREIE IJAfDe 27?

A) F5F, STSIT CHRoI™

B) CTE IRAT ST CHROIT

C) IR AT CHRGITT

D) FBTR CHRoT 46 ST FT1 @™

Answer: D) TR COIEI™

Explanation: 735 Jifes Fa7 2@®



48. Question: IRAECTT Se!¥ AT FE?

A) s fooEg
B) 9 376

C) S9 afse
D) 3% N6

Answer: B) 9 Ry

Explanation: TG fA35 9% MEF ¢ A6 0@ AFIA (TNwd [AfAEIT STmei 8 tRTIR BF
TOIF T 2 A6 IRTECIR TRTOT (FFT FT IT | O (W32 A afo 'iTer w3 e 7fere 2@
IN®| fFF Lo NEF © ARRF 16 FICT TN FIFF o Srery 3 Re1Es

SO @IS 52 | B33 IR

49. Question: TR JuIF AW F?

A) T
B) MET
C) BT
D) =

Answer: D) 3 (Rupi)

Explanation: - (50T 91 - Jfe1%T - EI/MSAF a1 - Democratic Socialist Republic of Sri Lanka
- IS - Tt SAFEEHT (FIE (Sri Jayawardenepura Kotte) - JuTd a1 - F5I - F1ZT SR -
5121 (Sinhala) - SRWE A - TS O35 fAofaFL.F

50. Question: -7 TSty (7 FIMG?

A) S

B) 9

C)»

D) v

Answer: B) 9

Explanation: STT& X1 WiSpel AR (TISTE aF6 SNFFTF @61 - S»ve T v foormg i
Af6fFe 2| - 97 WH TR (AT FIOAY R TS | - WFF a5 {61

51. Question: IRATCIF TAT THF (A6 (F R@?



A) @1 @1 BIS T I3
B) (1. (3. ST oar

C) (1. (3. 93F. a%. a9
D) (3. SreTSe sifel 3y

Answer: A) (3. (3. fS18T T=2919

Explanation: - J&Rs1d YT R /NTHE T/ GAMRAR NHEAIF Rerey @7 o4
(T TR | - Fofy I T4 NFH FAA TII/SAAE AT Wi Ao FE - SRS
1w qGFe 2N | ol STfEFTRIE TR 8 JfEIMRAE SHAEAIET wiidg Aoy SR -
AEIRAT FHNT (ARG T - ASTST S ST | T3 AFTWT - T (I 2621 -5 7@ 32|

52. Question: IRATCIT TSHAT (FTATI?

A) 6131 Sad

B) GBI wigher

C) CTE IRAT 91519
D) GI%FT

Answer: D) G191
Explanation: BT IRACCTE TOETA ST T3 SIT IS S0 SRTT ¢ T Aereaq 92 T

I IR A" - ¢ FCHTA () TSE IS GIFTI () TS J1e SR@F 77A7 fasifie
RE|

53. Question: JIF FzoN [T T9AH (FINT TIFS?

A) 823
B) TG
C) Afefa
D) WY

Answer: A) 833

Explanation: King Fahd International Airport in Dammam, Saudi Arabia is the biggest airport in
the world by surface area. Source: worldatlas.com

54. Question: ST TSIFGH I (FT FHIE?

A) S1F® NRNSIE
B) SGeI5% NRITISIE



C) &od TN
D ERICRINIRIG]

Answer: D) T NRISSIE

Explanation: ST So[[ad WGfI(® 8 STOIR ATe T TS TeuTe 6| AT STSIaes U1 J(EA
M @S | 6 SeF-51363 2PN FHIE 9o | Afe7 TStFeT M1 So,vao FEE| (@: G
3 AfFET : FIH-T T

55. Question: SRJF STSITON 3% (FTAG?

A) FIE

B) (GG St (Dead Sea)
C) & SRR

D) &1

Answer: D) (3T

Explanation: - SJR&1F 326 31 Mfad 30 1 SR W51 af6 {7037 3209 393 | 97 AFed
ST ©a},000 T fF.f1.1 aft 7&y afrx s&fss |

56. Question: 058 NI fAIFTT HHAT (FINT IO 2J?

A) TGH
B) Ffefe
C) ISfHar
D) &

Answer: C) SIS

Explanation: (@ ST W2 7 (W31, ©12 AT T8d QF (W2 [ | - 3058 N FoI [9F7 IAf[o©
2 - AR - 05y NETH fTIHT HOIT oD 2 - AT - Y033 NI FHIT (L1 Ief[P© T
- FTOTE|

57. Question: d ST IMEME@T TN (FTI?

A) BRI

B) AGRRE

C) 58I

D) FINAMRE@



Answer: B) FGRE

Explanation: FaTer See @i Ssr=el: e SRghox AfaerSeE IR 01 ARSI 57T
SFTA PP A5 S5 a%a, IFhe 3 TATOIWA P, IRTWCT SN Faemaa s
SfSBTeT ST b e & |

58. Question: (S3FAI TFHf6F GETT T | ISHE ATIORT) RTECTT (&1 =T 73S
@Il Bl (HFEeT JRFHT e FE?

INREIERIERD)

B) (sifarety

C) SJTH (T Joy¥ ]

D) 65 (SENTRG A6 Jifed Fa1 7@ =

Answer: This question has been canceled.

Explanation: 36 e F41 7@®

59. Question: IRTECIT AT fFSTEF G [FH1TF Fooa?

A) s
B) 3
C)»
D) %

Answer: B) b

Explanation: TTeIE T $93 N foaee 613516 @ af>e fFenst f[AeEes 89F 271 200
ST AT T fAeraafed A oS o Sfte $&@ 93191 Source:samakal.com

60. Question: FBIREG B T2~
A) SDE
B) s> b6
C) vaBS
D) v»b5

Answer: C) 53 (1981)

Explanation: 3R 2 AT RS G 770, T1ET T I AAFSE FETSOR (ASTFH
ST I TATNHHCER Ty SHT 973 (I DARFT AT XCIAEG SGIF A 9F ST HIFF T



SIIGT AMH-T9 FH] 2|

61. Question: Pick appropriate preposition for the following sentence: Noureen will
discuss the issue with Nasir phone.

A)in
B) over
C)On
D) by

Answer: B) over

Explanation: Phone *=f6a 5t& by 07| {3 the phone 97 & over/on JG7|

62. Question: Put the appropriate preposition for the sentence below : Some writers sink
oblivion in course of time.

A) on

B) from

C) under

D) into

Answer: D) into

Explanation: sink into oblivion 936 phrase, a7 3% {3t 3@ F18T7I context a7 I phrase
complete FH© A3« into [

63. Question: 'Call to mind' means-
A) fantasize

B) attend

C) Request

D) remember

Answer: D) remember

Explanation: Call to mind-Remember, recall. Source: dictionary.com

64. Question: 'Pass away' means-



A) disappear
B) Fall

C) erase

D) die

Answer: D) die

Explanation: Pass away-die. Source: Oxford

65. Question: Pick the word that is synonymous with ‘authoritarian’.

A) Potential
B) senior

C) elderly

D) autocratic

Answer: D) autocratic

Explanation: Authoritarian-favoring a concentration of power in a leader or an elite not
constitutionally responsible to the people;autocratic. Source: merriam-webster.com

66. Question: The word 'permissive’ implies-

A) humble

B) law-abiding
C) Submissive
D) liberal

Answer: D) liberal

Explanation: Permissive-allowing or characterized by great or excessive freedom of
behaviour;liberal. Source: Oxford

67. Question: Pick the correct part to fill in the gap of the following sentence : Each of
the sons followed- father's trade.

A) their
B) her

C) whose
D) his



Answer: D) his

Explanation: The traditional rule holds that the subject of a sentence beginning with each is
grammatically singular, and the verb and following pronouns must be singular. Thus you should
say Each of the apartments has (not have) its (not their) own private entrance (not entrances).
source:Cliffs Toefl

68. Question: 'Subject-Verb Agreement' refers to-

A) person only

B) number, person and gender

C) number only

D) number and person

Answer: C) number only

Explanation: Subject verb agreement refers to the fact that the subject and verb in a sentence
must agree in number. In other words, they both must be singular or they both must be plural.
69. Question: The only error in the sentence " One of the recommendation made by the
committee was accepted by the authorities" is-

A) Committee

B) was

C) accepted by

D) recommendation

Answer: A) Committee

Explanation: 321 One of the &1¥ recommendation &6 s (I plural TE|

70. Question: 'The French' refers to-
A) the French society

B) the French language

C) the French manners

D) the French people

Answer: D) the French people

Explanation: The French refers to the French people who are the residents of France.



71. Question: If a person cannot stop taking drugs, he or she is-

A) attached to them
B) committed to them
C) devoted to them
D) addicted to them

Answer: D) addicted to them

Explanation: Addiction - unable to stop taking drugs;unable to stop doing something as a
habit.Attach, commit or devote doesn’t match the context of the drug taking concept.

72. Question: The word 'officialese' means-

A) plural number of official

B) vague expressions

C) plural number of office

D) language used in offices

Answer: D) language used in offices

Explanation: Officialese-the type of language, often used in government documents, that is
formal and often difficult to understand. Source: dictionary.cambridge.org

73. Question: The verb 'succumb’ means-

A) achieve

B) Conquer

C) win

D) submit

Answer: D) submit

Explanation: Succumb-to give way to someone or something that one can no longer resist;to

yield to superior strength or force or overpowering appeal or desire;submit. Source:
merriam-webster.com

74. Question: Fill in the blank with the appropriate part: We look forward a
response from you.



A) for receiving
B) to receive

C) in receiving
D) to receiving

Answer: B) to receive

Explanation: Look forward to, with a view to,get used to A8TTF *(F verb ST verb 99 {1 ing
LR

75. Question: If a part of a speech or speech or writing breaks the theme, it is called-
A) pomposity

B) Anti-climax

C) exaggeration

D) digression

Answer: D) digression

Explanation: Digression-a temporary departure from the main subject in speech or writing.
Source: Oxford

76. Question: The expression 'take into account' means-

A) count numbers

B) Asses

C) think seriously

D) consider

Answer: D) consider

Explanation: Take into account-to give consideration to (as unexpected circumstances or
contingencies). Source: merriam-webster.com

77. Question: Choose the best translation of ' 1@ foT%@ I from the
alternatives below-

A) The authorities criticised him.
B) The authorities took him to book.
C) The authorities gavereins to him.



D) The authorities took him to task.

Answer: D) The authorities took him to task.

Explanation: Cmbridge f&3afa SI513t Take someone to task for something a3 3% 2 to
criticize someone I FIGE@ foTTF F4T|

78. Question: "Such claim needs to be tested empirically" suggest that-

A) The test should be based on assumption.

B) The test should be based on idea.

C) The test should be based on calculation.

D) The test should be based on experience.

Answer: D) The test should be based on experience.

Explanation: (I@Ta WIfI@33T AET assumption 3T ST, idea 31 4189, calculation AT sfdfe®
R T AT TeTeT TER FA(©@ AT | A5 AW experience I AfSHROIT TS |

79. Question: The idiom "put up with" means-
A) stay together

B) Protect

C) keep trust

D) tolerate

Answer: D) tolerate

Explanation: Put up with -to accept or continue to accept an unpleasant situation or
experience, or someone who behaves unpleasantly;tolerate. Source: dictionary.cambridge.org

80. Question: In many ways, riding a bicycle is similar to-
A) when we drive a 519

B) when one drives a car

C) the driving of a car

D) driving a car

Answer: B) when one drives a car

Explanation: TR 43 STRGT GFTAT 932 HFE@S (FI1 T8TF AWF phrasal S8 4F2 TF | 9XT8



riding a cycle ¥T¥1¥ driving a car |

81. Question: BXFW (F1T = (FTAT ?

A) IFag0
B) SIfNaIg$d = v

C) 9993
D) M3

Answer: A) SI%dJ3

Explanation: - 518 el ax1ee =1F 3 fasffl v afbw | - Sy = Ao Sags =ew Ao -
MAE R TaST 72 Aal 29 I |

82. Question: FISI 8 TG T T IAT?

A) SferT To@d CTAIE 8 3T e a T

B) (FGT To@d CTANE 8 SFTT Toa ST
C) &% Te@d CTANE 3 FITT o d TANE
D) ST o d CTATE 3 ST T s

Answer: A) ST To@d CTATE 8 [T To@a o

Explanation: SI5TH Te@d (AT 3 ST Te@a T3 TfeF 8 TREoF [ RET J Faed
2] TS SASAT 3 S TN AT T= TG | [S@: TRAT©AT 8 WifRey - . Ghifira
CTE]

83. Question: FfJ NEFT INT F(J (F?

A) e T

B) 2% 5134
C) & (81 ¥
D) (sTTewT 55 [S3]

Answer: B) 2% 317
Explanation: (SITSwT] $3(& I 2T FISTET AT FEAIA| - BIF ATSTIFT AT T FAATH| -

ST TOFE FAFTOR (T FIG FIT FHOTT WIS I FEA, TSI M TF STFF (598>-3138),
foreTR AT (59a5-5B3S), T T (SA¥Y-SBRY), (ST NI, 75 o3 T T SEART|




84. Question: (& T F1& 23 & T 4?' F17 (@27?

INE S EICIEERIRIS]
B) %9ab% 8%
C) FIferelt 1%

D) $¥b0 IS
Answer: A) TOIGETES JTSTO!

Explanation: 3354 FEPWH ©1F FN0F fTARA- (3 T3 F16 23 XA T ¥ Ty 2 17 7
AAEY 6T I FTE (F F9T @eite 22 a1 57X 7o 77 5 720 ?”

85. Question: (&9 5% HfdF?

A) 5 &I T ST
B) &5 &5 5o SAT
C) &S 4TS o7 ST
D) &5 &5 S AT (6 Jfoe FAT T ®

Answer: B) o7 ST T © 1

Explanation: G Jifed a1 2@®

86. Question: (FF I BF IT?

A) wfmer

B) &I@IfsreT
C) Tm1afer
D) S%

Answer: A) 9fF@eT

Explanation: SIf3& I 'S | S (F0TT): 302 - ToER O, TSRO B9 - IRAT AFCS A
ST |

87. Question: "B =H RAfreF <-

A) TR
B) sT*3

C) i:f%fe
D) STarsTSit



Answer: A) ST

Explanation: sj2t - SRTS; BT, ARSI | S35 IRAT AFTOA ASHI |

88. Question: Excise duty -7 AfFeR @62

A) Sifefas F9
B) wifefi® 39
C) af*fe wifkg
D) =T 8%

Answer: A) SIfefse 9

Explanation: Excise duty a7 SIfFeRT 26 N5 8F |

89. Question: @ IFHT BFH?

A) (ST (ST BT CNA] AN 1 58S 77 |
B) & A I=hiel IS F17 Sfow|

C) Wi 21N (A (N6 Sed e |

D) wfHweT S J&T S5 |

Answer: A) COTIF (ST FT CNAT ANTF T AT 97|

Explanation: STf5& 135 F: - (ST (ST FT CTAT ANF T N8I AT | - WG] AN FHF
SIS | - ST 2 (20T (A6 God [We | - N [T 12 I F47 Sfbe |

90. Question: "Qf ANE ICT (X N1 AT IFF FH11 BRE 1" af6 (FT7 552

A) ST

B) :I&

C) f&

D) f3rr a7 &ifbet

Answer: B) &

Explanation: 436 J49 IEE N7 95w A3 JT AFIEF T I THTHISTE I (FIEAT 5T
TEI ST T TN LA T J& T@ T T ONE TS I ST 3 JT S6e 15 I




91. Question: &% Af'-T TNF 1% 77?2

A) T
=) RGEICE]
C) 7¥a3ft
D) =Rgfeie

Answer: C) ¥t

Explanation: S &g SF & 3T NTF, @A, TI86|

92. Question: (FH(G NOF IATA?

A) et
B) JFATAT
C) fafaffer
D) ferifat

Answer: B) SifAfarat

Explanation: IR A3 SN fer et =fb W& | et (Fom): o - Fifa; 7ot (317 ==
fIE = TS - ma S1FF) | {(@85T 1 :Fo) oy + 3 (3) + 5 (&17)}

93. Question: (FHEM0 "&Fa?

A);

B)""

C)=

D):

Answer: B)""

Explanation: (;) TR 57, (1) (@FFE foF, (=) N4 foF, (" ") Oadd 5|

94. Question: IRAT TREEIT ANeN [[AE TAFT 'FET Fo I TIT T e 27 ?

A) S>9 ST
B) $38 I
C) S3¢ ST
D) 39 NI



Answer: B) 238 NI

Explanation: S>3 NI A% (T N7 J¥Ta RO FaaTe] (@ NS 'FEET 7o
| - 99 HAGS ST GIErTEs WP 8’5 IR O 8 Wiizey e - . cifia crig

95. Question: (@19 I3 JFT SEHIA F$ Ab©?

A) AT J@T
B) sTeT/awet
C) T3t sTP1CT
D) zFeT

Answer: A) g T

Explanation: Ik M1RSTA FCTE F3 318 SEHR| 20T ©fF TFF1 I ©IF A6 SNy
FIHIE - - TN (@3, - O, - NEFOI, - AT, - Megw (Fihe) Tl TsT: IR SAT 3 MRSy
&G, ©. CNfNa CTad|

96. Question: 'GIFF FI" T I fF?
A) F96 T

B) 5SS

C) T@BIsT

D) IR

Answer: A) 16 T5fe

Explanation: GBI F1fd IR 91X (G | SIFARTT SAT 3 MfRey @I ©. (g orid

97. Question: FEACT SEITHTIL "RIFF' TANCIF 6fFa (F1G?

INIGIEE]

B) =TIt
C) faretr

D) Fafaat
Answer: A) @1RA

Explanation: 33 (S99) IFA6T SEIMETE Afbw TENf&F SF| - ate {517 {377, J@a
AFEF AR, AT AT 3 ALFEE Fo@ (ST TJ®@| -



98. Question: (FH I BFH?

A) fafsifer=ey
B) stz
C) Afifersr
D) frififersr

Answer: B) ffs@ter

Explanation: et (Rem): o - ey (Bl smay 8@ wfaas o@)| - Fréfierss, Briftfes 31 -
{(©35% AT e Fw) e + 3 (F9) + 37 (B177)} T2 IRAT TS ASH |

99. Question: fTeTEfTa RER IAqIW TV FET-

A) 95dT TS

B) fb.as7.afexG

C) o

D) ofFe. 7. 36N

Answer: B) fo.as.afemt
Explanation: =fG Sex SIS @ | - Merafe F1=56 Fwa1y $137 foaer @RS Aeam FE=| -

T foy T - SR 3T SRS 7. 26| OF, 23 7 @O AT 0F SoF - o)
3T, . 2G| I TP FwAN 51FF AIFE (762 Sod 2J|

100. Question: ) 'The Origin and Development of Bengali Language' 5% T6d] $E&-

A) T. T TRIGER
B) ST & farasiar
C) =W <A

D) T. AtfeFN SEIETH

Answer: A) T. W’l’%@l’i

Explanation: SAIfeF N SEIMENT dfbe 2510 5% - - AT 9T (SISTETG 9% (I T[S -
ODBL (533V), - T O T TR 57T FIK, - RN ©FNO(FH Qﬁzﬁll



